I
CEDR Transnational Road Research Programme
Call 2013: Energy Efficiency

[ a)\

A
CEDR

funded by Austria, Germany, \ ] ]
. Conférence Européenne
the Netherlands, Norway, Slovenia and UK des Directeurs des Routes

Conference of European
Directors of Roads

EDGAR
Evaluation and Decision Process for
Greener Asphalt Roads

Guidance document on the sustainability
assessment of bituminous materials and
technologies

Deliverable 2.2
October, 2015

Project Coordinator:
BRRC — Belgian Road Research Centre

Project Partners:

EPFL — Ecole Polytechnique Fédérale de Lausanne
TRL — Transport Research Laboratory

NTNU — Technical University Trondheim




CEDR Call 2013: Energy efficiency

CEDR Call 2013: Energy Efficiency
EDGAR
Evaluation and Decision Process for Greener
Asphalt Roads

Guidance document on the sustainability
assessment of bituminous materials and
technologies

Due date of deliverable: 15/08/2015
Actual submission date: 31/10/2015

Start date of project: 16/04/2014 End date of project: 15/04/2016

Author(s) of this deliverable:

Wayman, Matthew & Peeling, James, TRL Limited, UK
Maeck, Johan & De Visscher, Joélle, BRRC, Belgium
Bueche, Nicolas & Schobinger, Bastian, EPFL, Switzerland
Anastasio, Sara & Hoff, Inge, NTNU, Norway

PEB Project Manager:
Ripke, Oliver
Version: 0.1, 10/2015



CEDR Call 2013: Programme name

]
Table of contents

EXECULIVE SUMIMIBIY ...ttt 1
A 1 1 0 T ¥ Tod 1 0] o PP 2
A = = Tod (o {0 ¥ T USSR 2
1.2 AIM OF thE FEPOI. ... e e e e e e e e e 3
2 The proposed EDGAR methodological framework ..............cccccocuiiiiiiiiiiiiiiiiiieees 4
2.1 Decision Making CONEXL ........ceviiiiiiiiiiiiiie e 4
3 Finalising the basket of environmental iNdiCators ...........cccoeviiiiiiiiiiiiiin e, 6
3.1 NOrMAlSAtION PrOCESS......eeviiiiiiiiiiiiiiiiiee ittt ettt et e e e e e e e e ee e e 6
4 |dentifying methods to address SPeCifiC CONCEIMNS.........cooovieeieieeee e 10
4.1  Compiling a matrix of CONSIAerationS............cccivvviiiiiieiii e 10
N U o ¥ L= 1 0 = L1 G 14
4.3  Methodology review and SElECHON............cvvviiiiiiiiiiiiiiiiiieeeeeeeee e 14
4.4  Reference material COMPAriSON...........uuuiiiiiiiiiiiieiie e 19
T 1 o] ] o To ] (1T PSSP 19
5 User preference — alternatives ranking .................eeeeeeeeieiimiiiiiiiiiiiiieeeeeees 20
6  Conclusions & reCOMMENALIONS ..........uuuuuuuiiiiiiiiiiiiie bbb eeenneeenee 24
A o1 (g 101/ [=To [ =1 2 =T o PP 25
S T = (=] 1= g o] PSS 26
Annex A: Results of NOrMaliSAtION ..........covviiiiiiiie e e e e e e e e e enenes 38
ANNEX B: MethOdOIOQY FEVIEW ........uuuiiiie e e e e e e e e e e e e et e s e e eeeaenenes 41
Annex C: Bespoke recyclability methodology ..........ccooovuiiiiiiiiieiicce e, 43

4

ol CEDR

\ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



CEDR Call 2013: Programme name

e
Executive summary

The principal aim of the EDGAR project is to bridge the gap between innovation in the
bituminous materials sector and adoption of the new technologies® by national road
administrations (NRAS). It aims to do this by providing road authorities with an assessment
methodology that places sustainability information on the new technologies at their fingertips,
enabling them to make informed decisions, by building an evidence base, and gaining re-
assurance to facilitate quick adoption of the technologies that provide the biggest advances
towards sustainability for the highways sector and society as a whole.

This document details the approach taken to developing a sustainability assessment process
for novel bituminous technologies, and the resultant methodology for NRAs to use. The
methodology is formulated in a six-step process; starting with NRAs raising concerns over a
technology and ending with them enabled to make an informed decision over its use. The
methodology provides assistance for NRAs at each key juncture, from identifying concerns,
selecting the indicators to assess, performing the assessment, and evaluating the results
with the assistance of weighting methodologies and conventional asphalt baselines. The
process can be repeated as more evidence is generated that relates to use of a technology,
allowing the decision maker to become more informed.

The methodology draws on two previous deliverables from this project. The findings of
Deliverable 1.1 (D1.1) are used to formulate a ‘matrix of considerations’ to assist NRAs in
identifying sustainability issues in relation to certain families of asphalt products e.g.
durability (the issue) in relation to cold mix asphalts (the family of products). Considerations
might not necessarily always arise from a negative perspective, but might also be raised to
prove a positive claim (e.g. the reduced global warming potential of warm-mix asphalts).
Deliverable 2.1 was concerned with setting the scope for the assessment methodology. A
few specifications for the methodology were defined in Deliverable 2.1 (D2.1): that it would
consider the full life cycle of asphalt, in order to take into account durability issues, and would
complement the Environmental Product Declaration (EPD) process, but not be too data or
time intensive for NRAs to undertake. A wide range of sustainability indicators were reviewed
and considered for application. Some indicators were discounted at this stage but the final
‘basket’ of eleven indicators was not completely finalised. Final selection is described in this
report, using the life cycle assessment (LCA) process of ‘normalisation’. The final basket of
indicators aligns with the three spheres of sustainability: environment, economy and society.

To measure each indicator, an appropriate methodology was recommended from a review of
closely related initiatives or available standards, acknowledging the extensive pool of
valuable research that has already been conducted in relation to the sustainability
assessment of highway products, whether or not the work was specifically branded as such.
In relation to some indicators, the pool of available methodologies was extensive and for
others the choice was very limited. To assess recyclability a bespoke indicator had to be
developed. All methodologies were selected or devised to be used by assessing against a
conventional asphalt baseline. The final step in development of the methodology was to
apply multiple attribute decision making, a type of multiple criteria decision analysis, to assist
NRAs in analysing the outputs from assessments. The methodology will be demonstrated in
Deliverable 3.1 (D3.1) using three test cases.

! In the context of this report, ‘technology’ is used as a broad sense to cover materials and processes
related to the application of bituminous products on the highway network.
.
{ a
CEDR
1 \ ™Y Gee Direcseurs des Rowtes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

|
1 Introduction

1.1 Background

A way forward for the EDGAR methodology was outlined in previous deliverable D2.1
(Wayman & Peeling, 2015). It was decided that the methodology should be life-cycle based
and extend beyond ‘cradle-to-gate’, in order to include some appraisal of durability of the
products being assessed, and their influence on the use-phase impacts of the road.
Furthermore, it was concluded that any methodology developed should appraise social and
economic aspects of bituminous materials alongside the environmental, in order to fully meet
the requirements of the ‘sustainability’ agenda. D2.1 explored some of the boundaries for
sustainability assessment of bituminous materials, through a review of the relevant standards
and the advances that the highways sector has already made in the area. It also examined
the relevance of Environmental Product Declarations (EPDs) in devising such a process. It
was concluded that the EDGAR methodology should complement the EPD process rather
than provide an alternative to it. Figure 1-1 proposes how this could be achieved.

Reassess

1) Proposal
to use
specific novel
technology
on the
network

Feedback
loop

Figure 1-1: The EDGAR methodology in EPD context

It is envisaged that the EDGAR methodology will be more streamlined than the in-depth
assessment of 24 indicators that creating an EPD requires, and will therefore provide a
means for novel bituminous products to be ‘screened’ before use on the network and more
readily adopted. The EPD process can then be undertaken once materials have reached
widespread application. Regarding impact assessment for EDGAR, available sets of
sustainability impact indicators were considered for their relevance to the bituminous
materials sector. A set of indicators for assessing novel bituminous materials and
technologies was proposed, covering the environmental, social and economic spheres of
sustainability.

/ CEDR
2 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

T
1.2 Aim of the report

This report, Deliverable 2.2 (D2.2), follows directly on from D2.1 and recommends a
methodology for NRAs to use to assess technologies prior to their use on the road network.
The processes used to arrive at the final methodology are presented in this report:

Identification of environmental indicators with particular relevance to asphalt and
downplaying those that have little significance in order to arrive at a more
manageable final ‘basket of indicators’;

Synthesis of alerts and research gaps from D1.1, to create a ‘considerations matrix’
that provides NRAs with an indication of where knowledge may be insufficient
surrounding the use of a particular technology or concerns may exist;

Identification and recommendation of appropriate methodologies to assess each
indicator in the basket;

Application of user preference weighting to the final set of methodologies to account
for confidence in the data sources used and further assist the decision-maker;
Development of the framework and processes to demonstrate how NRAs might wish
to use the methodology.

/ CEDR
3 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

2 The proposed EDGAR methodological framework

2.1 Decision making context

The EDGAR project addresses a specific context for NRAs: when novel bituminous materials
are proposed to be used on the network. Figure 2-1 suggests a decision making context in
which it might be used.

(A) Proposal to use (F) Informed decision

specific technology on |€ .
the network J is made
h

[ Reiteration ]

A 4

(C) NRA selects indicators
(B) NRA unsure about | toevaluate from basket &
credentials - specifies assessment
methodologies

Bespoke
assessment
methodology
for
recyclability

(D) Assessment performed
to expand the evidence
base

| (E) Probabilistic decision
- support

W

Research gaps
and alerts for
specific
technology
categories

Existing
assessment
methodologies

Figure 2-1: Decision making context and decision support from EDGAR
The steps in the process are described in more detail below:

Step A — Proposal to use the novel material on the network

An application is made by a contractor to use a new technology on the network. At this stage
the product (and its constituent materials, where applicable) has already been CE marked by
the manufacturer and a Declaration of Performance (DoP) drawn up to contain information
about its performance in relation to the essential characteristics defined within the
harmonised technical specifications. The DoP covers aspects related to the Basic
Requirements for Construction Works (BRCW; Construction Products Regulation
(574/2014)) including mechanical resistance, stability and safety in case of fire.

Step B — NRAs unsure about the material or technologies’ credentials

From a sustainability perspective, decision maker(s) in the NRAs are not fully confident about
using a new technology on the network, or would like the evidence base supporting the
material to be expanded in order to inform the decision-making process. The current
evidence base might be lacking since it does not address perceived risks associated with
use of the technology on the road network (whether environmental, social or economic), or
does not make the advantages clear enough.

/ CEDR
4 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

A ‘matrix of considerations’, produced from a synthesis of research supporting the adoption
different types of technology on highways in D1.1, will assist NRAs to identify areas where
the evidence base might be lacking for specific families of technology. See Section 4.1 for
the matrix.

Step C — NRA selects indicators to evaluate from the basket and specifies the assessment
methodologies

A basket of eleven indicators has been arrived at through evaluation in D2.1 and through the
process of normalisation, described later in Section 3. The basket has been compiled to
address the main sustainability concerns associated with the application of bituminous
technologies on the network, across their full life cycle. Based on the list of considerations
identified in Step B, the NRA will select the indicators that they would like to be measured.
For each indicator a methodology has been suggested later in Section 4.2. This would need
to be specified by the NRA as the selected assessment methodology. The assessment
process can be streamlined according to the level of confidence that already exists in use of
the family of materials: the number of indicators selected might be just one or two for
established families of asphalt technologies, or a greater number if the technology is more
emerging.

Step D — Assessment performed to expand the evidence base

The NRA might require the product manufacturer or contractor to augment the evidence
base, or it may wish to do this in-house, or commission an independent third party to conduct
the assessment, such as a test house or independent research organisation.

It is recommended that a ‘control’ is assessed in all cases; this would typically be
conventional hot mix asphalt in widespread use such as asphalt concrete, if the proposed
technology is a material, or conventional plant if the technology is targeted at a process
improvement. This will give a point of reference on which to base relative comparisons of
performance.

Step E — Probabilistic decision support

Having been provided with the results, the NRA can insert the results into the decision
support framework that is described in more detail in Section 5, to make the results obtained
more manageable and comparable.

Step F — Informed decision is made

The decision support framework will assist the NRA in making a final decision over use of the
technology on the network.

The assessment process does not necessarily conclude after a single iteration of steps A-F.
A repeat of the cycle can be conducted if the evidence base is still insufficient after one loop,
or more evidence in relation to the technology becomes available.

/ CEDR
5 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

3 Finalising the basket of environmental indicators

Priorities of the EDGAR methodology are to (i) focus on bituminous technologies and (ii) not
be too data or time intensive. D2.1 identified a potential basket of indicators that could be
applied to bituminous technologies and these are reproduced in Table 3-1. However, it was
thought desirable to reduce the number of environmental indicators for the aforementioned
reasons. The process used to do this was a commonly used life cycle assessment (LCA)
technique called ‘normalisation’.

Table 3-1: Likely composition of the indicator set for the EDGAR methodology from D2.1

Environmental Social Economic
Based on normalisation, 2-4 e Health & safety for road e Financial cost
indicators from: users (possibly e Traffic congestion

incorporating ‘noise’)

e Health & safety for road
workers (incorporating
‘toxicity’)

¢ Responsible sourcing

e Resource depletion
(abiotic)

e Resource depletion (fossil
fuels)

e Global Warming Potential
(GWP)

e Ozone Depletion Potential
(ODP)

e Acidification potential (AP)

e Eutrophication potential
(EP)

e Formation potential of
tropospheric ozone (POCP)

e Performance (durability)

Alongside the indicators in Table 3-1, it is important to take into account performance
(durability) in product assessment, since a product might perform exceptionally on cradle-to-
gate, but disintegrate within a very short time once placed on the road. Assessing only on a
cradle-to-gate or cradle-to-site basis would not pick this up. Performance has the potential to
influence each of the three spheres of sustainability, given the direct relationship between
durability, material replacement rates and number of required maintenance interventions.

3.1 Normalisation process

The LCA process of normalisation is described in an extract from the Handbook on LCA
(ILCD, 2010) presented in Box 3-1.

/ CEDR
6 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name
e

In normalisation, the indicator results for the different midpoint level impact categories or
endpoint level damages are expressed relative to a common reference, by dividing the
indicator results by the respective reference value. As reference values typically the
impact or damage results of the total annual territorial elementary flows in a country,
region, or continent, or globally (or per average citizen, i.e. per capita) are used. These
reference impact or damage results are termed “normalisation basis”. The normalisation
basis is calculated from the inventory for each of the impact categories or damages in the
same way as the impact indicators or damages of the analysed system (e.g. product) are
calculated from its life cycle inventory: For midpoint level results the normalisation basis is
the overall potential impact, calculated from the annual inventory of elementary flows. For
endpoint level results the normalisation basis is the overall damage to the areas of
protection.

To ease communication (and quality checks) across studies, it is recommended to use as
normalisation basis the elementary flow inventory per capita in the selected
country/region/globally per year.

The decision whether to use global data or data for a specific country, region or continent
shall be made during the initial scope definition and shall be justified along the following
considerations:
o Where are the supported decisions be made (Situations A, B), or where is the
reference of the accounting (Situation C)?

o Relevance for the intended application(s) and target audience of the LCI/LCA
study.

o Sufficiently complete availability of inventory data for the chosen country, region or
globally, and with a sufficiently similar completeness of all impact categories /
areas of protection considered in the LCI/LCA study.

e The elementary flows of the normalisation basis have to be appropriate for use
with the LCIA method used for the LCI/LCA study, i.e. are classified and
characterised as are those of the analysed system.

o Compatibility with the midpoint impact categories or category endpoints, as
applied, and with the set of weighting factors to be subsequently applied, if any
(see below).

The year of the normalisation basis should be the latest year for which reliable data are
available. The chosen normalisation basis should not be changed later on in the study,
unless it has to be extended if in the course of the study a non-default impact category
has been additionally included.

Box 3-1: Extract from the Handbook on LCA on normalisation

The basic process is also summarised in Figure 3-1.

I CEDR
7 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name
e

1) Take a life

cycle
inventory

Figure 3-1: The basic process of normalisation

Environmental Product Declarations (EPDs) for asphalt are essentially life cycle inventories
of ‘standard’ asphalt originating from different countries. A number of EPDs were identified in
the course of producing D2.1 and afterwards, these are as follows:
¢ PE International EPDs from Germany in 1999 for base course, binder course, mastic
asphalt, SMA and wearing course (Federal Ministry for Environment, Nature
Conservation, Construction and Nuclear Safety, 2013);
e ACCIONA Infraestructuras EPD from Spain in 2013 for the N340 road (Acciona,
2013);
o Office des Asphaltes EPD from France in 2009 for a hot mix asphalt pavement and
waterproofing asphalt (Federation of French Road Building Industry, 2014);
e Foreningen Asfalt og veirservice EPD from Norway in 2009 for asphalt gravel
(Norwegian EPD Foundation, 2011);
¢ BAM Wegen EPD from the Netherlands in 2009 for asphalt concrete (SBK, 2012).

Five of these ten EPDs were selected as a representative sample set of life cycle inventories
for the normalisation process (Step 1 in Figure 3-1). These were the German binder course
EPD, the French hot mix asphalt EPD and the three EPDs from Spain, Norway and the
Netherlands. The EPDs had to be translated and then the data from each EPD was
tabulated. A set of annualised impact data: ‘West Europe 1995’ (CML, 2010) was selected to
normalise the datasets. Within this data source the ‘category totals (summary)’ spreadsheet
was used which contains impact categories (e.g. acidification) and figures for reference
situations.

Step 2 was to divide the EPD asphalt datasets with the corresponding impact category data
from the annualised dataset, resulting in a unitless number. This normalises the scale of the
impact to the total impact across Western Europe, i.e. the figure obtained becomes a
measure of the contribution of one tonne of asphalt to the overall impact across the
geographical area used. The scale of impacts, largest to smallest, was ranked for each of the
five EPDs. The results of this step are presented in Annex A.

Normalisation was only applied to the impact assessment indicators that were common to at
least four of the five EPDs. These were:

/ CEDR
8 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

Acidification of air and water

Destruction of the stratospheric ozone layer
Global warming potential

Eutrophication

Photochemical oxidant formation

After normalisation, two of these indicators - eutrophication and destruction of the
stratospheric ozone layer - were on a scale of 1,000 — 100,000 less than the other three
indicators measured. It was therefore decided to discard these indicators at this stage and
focus on the other three: acidification, global warming potential and photochemical chemical
oxidant formation, which seemed to be more significant for bituminous products. Table 3-1
could therefore be modified to Table 3-2.

Table 3-2: Modified composition of the indicator set for the EDGAR methodology

Environmental Social Economic

e Resource depletion e Health & safety for road e Financial cost

(abiotic) users (possibly e Traffic congestion
e Resource depletion (fossil incorporating ‘noise’)

fuels) e Health & safety for road
¢ Global Warming Potential workers (incorporating

(GWP) ‘toxicity’)
e Acidification potential (AP) | e Responsible sourcing
e Formation potential of

tropospheric ozone (POCP)

o Performance (durability)

/ CEDR
9 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

e
4 ldentifying methods to address specific concerns

4.1 Compiling a matrix of considerations

A so called ‘matrix of considerations’ was produced to highlight the key sustainability aspects
that relate to different families of bituminous technologies. The considerations identified
originated from alerts/research gaps highlighted in Deliverable 1.1, where the following
sustainability criteria were considered:
e Global warming potential
Use of resources for energy
Use of materials for resources
Air pollution
Health & safety
Financial cost
Recyclability
Performance

Based on the findings of D1.1, and the normalisation described in Section 3.1, the list above
was modified slightly and added to, to arrive at the eleven criteria below in Table 4-1. ‘Air
pollution’ covers the AP and POCP impact categories resultant from normalisation. When
measured, these eleven criteria were thought to comprehensively evaluate the sustainability
of bituminous technologies in a highway context.

Table 4-1: Sustainability criteria applicable to bituminous materials in highway pavements

Original criterion from D1.1 Final indicator

Global warming potential _ _
Global warming potential

Use of energy resources

Use of materials for resources Depletion of resources & waste management

_ Air pollution
Pollution

Leaching potential

Noise
Health & safety

Skid resistance

Financial cost Financial cost
Recyclability Recyclability
Performance Performance (durability)
(not included) Responsible sourcing
(not included) Traffic congestion

Three indicators were added to the final basket that were not previously covered in D1.1:
leaching potential, responsible sourcing and traffic congestion. Assessing the leaching
potential of materials that will be in situ within the road structure for many years and, in some
cases, exposed directly to precipitation and percolation through the structure is an important
environmental consideration. Responsible sourcing was included to bring more of a social
dimension to the overall basket of indicators, considering material supply chains locally,
nationally and internationally. Finally, traffic congestion was thought to be an important factor

(">
a\
CEDR

10 \ Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads



CEDR Call 2013: Programme name

to evaluate, in order to consider the impact on user journeys during maintenance, mainly
from an economic perspective, but perhaps also with some environmental implications.
According to the findings of D1.1, global warming potential and use of energy resources
could be streamlined into one indicator, since the trend in both criteria were usually found to
be identical for bituminous materials, given that the global warming potential of bituminous
materials was directly linked to direct combustion of fuels and little else. Finally, the ‘health &
safety’ criterion was defined to be more directly applicable to bituminous materials, to
consider noise and skid resistance. Descriptions of the selected indicators are provided in
Table 4-2.

Table 4-2: Further description of the selected indicators

Indicator Description
Evaluating the contribution to climate change of the
Global warming potential technology in material terms (cradle-to-gate) or its ‘in
use’ effect

Assessing the overall ‘material balance’ of a tonne of
asphalt, considering primary and secondary materials,
and waste

Depletion of resources & waste
management

Assessing pollution potential on the basis of air
Air pollution pollution (non-CO, emissions), evaluating acidification
and photochemical oxidation potentials

Assessing pollution potential on the basis of leaching

Leaching potential potential to groundwater

A health & safety consideration for road users and

Noise road neighbours related to surface characteristics

A health & safety consideration for road users related

Skid resistance o
to surface characteristics

In life cycle cost (LCC) terms, measured as net

Financial cost
present value

Assessing the potential for the valuable properties of
Recyclability asphalt’s constituents to be retained into the next
lifetime

Using a selection of test methods to assess different
characteristics of bituminous materials that relate
directly to how long it will last in the pavement
structure

Performance (durability)

Evaluating social aspects related to the supply of

Responsible sourcin . )
P 9 constituent materials

Social aspects related to installation of the material at

Traffic congestion the road site and the consequences for road users

To produce the matrix of considerations, the research gaps and alerts identified in D1.1 were
re-visited and supplemented for the indicators in the basket that had not already been
considered. A more fundamental consideration of positive claims was also conducted. The
final matrix of considerations to be used in Step B of the EDGAR methodology is presented
in Table 4-3.

/ CEDR
1 1 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

Table 4-3: Matrix of considerations

Applicable
sustainability
indicator(s)

Technologies

Global warming

potential

Depletion of

resources & waste

management

Air pollution

Leaching potential

Noise

Skid resistance

Financial cost

Recyclability

Performance
(durability)

Responsible
sourcing

Traffic congestion

Warm and half-warm asphalt technologies

Foam

*

*

*

Organic additives

L 4

*

Chemical additives

L 4

Cold and semi-cold asphalt technologies

Emulsion

Foam

Asphalt recycling

Plant

*

In situ

*

*

*

*

L 2
*

L 2

L 2

Secondary and open-loop recycled m

aterials

Steel slag

*

Fly ash

Crumb rubber

Shredded roofing

Crushed glass

(oo

LR IR B AR 2

LR AR R RS

AR ARSRE SRS

AR ARARARS

L IR IR R IR 2
(o000

S| [0 0|

L AR ZIE SR 3R 2

LR IR NI IR 2

AR AR AR AR

Alternative and modified binders

Bio-binders

*

*

L 2
*

L 2

L 2

Sulphur

PMB

*

12

f a
CE

\ Ty

o

Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads




CEDR Call 2013: Programme name

Table 4.3 (cont.): Matrix of considerations

uonsabuod alyjel]

Buioinos
a|qisuodsay

(Aupigesnp)
9duew.oliad

Angelohosy

1S09 [eloueUlq

aouei1sIsal piS

aSION

renualod BuiyoeaT

uofinjjod J1v|

Juswabeuew
91SeM 79 S821Nn0Sal
Jo uona|daq

[enuayod
Buiwiem eqo|o

*

*

*

(s)101e01pUI
Aljigeureisns
3|qeoljddy

Technologies

Additives

Anti-stripping agents

Pigments

Fibres
Rejuvenators

Conférence Européenne
des Directeurs des Routes

A

-
C

f{
\

13

Conference of European
Directors of Roads



CEDR Call 2013: Programme name
e

4.2 Using the matrix

The matrix highlights pre-existing ‘considerations’ regarding the evidence bases of certain
families of bituminous technologies. Gaps in the evidence base that have been determined
against each family of technologies are marked with an orange symbol (¢). If a clear negative
has been identified then a red symbol is used (¢). Potential positive claims are indicated with
a green symbol (¢). If the anticipated impact is unknown or neutral then a blue symbol is
used (¢). The matrix should never be used to ‘tally-up’ positive, negative and neutral
symbols; it should only be used as a decision aid to assist NRAs in deciding where the case
for using a particular technology may be formed.

If an NRA is presented with a proposal to use a new technology then the NRA can raise its
own concerns with the evidence base or refer to the matrix to be prompted in this respect
(Step B in Figure 2-1). Each consideration raised has a related indicator that can be
measured to enhance the evidence base associated with the technology. Once the matrix
has been consulted then the NRA specifies the indicator(s) that it would like to have
measured (Step C). For technologies that are a small step from the conventional (e.g. an
elevated recycling rate), just one or two indicators might be selected for measurement; for a
more fundamental step change then a more extensive investigation to measure several
indicators would be warranted. The next section describes the methodologies that have been
identified to measure each indicator.

For example, take a chemically modified asphalt. The product contains a chemical previously
unused in asphalt that is claimed to facilitate half-warm mixing in binder and base courses.
The NRA is keen to adopt low-temperature asphalts wherever possible but feels the new
technology is not yet proven. The NRA consults the matrix of considerations (Table 4-3) to
decide where it should request further evidence to be provided in order to allay any
reservations. The matrix indicates the following:

e A positive effect (¢) should be associated with use of the chemical additive in relation
to ‘air pollution’ and ‘traffic congestion’.

e A neutral effect (¢) is anticipated to be observed in relation to ‘depletion of resources
and waste management’, ‘noise’ and ‘skid resistance’.

e The current evidence is inconclusive (¢) in relation to ‘global warming potential’,
‘leaching potential’, ‘financial cost’, ‘recyclability’, ‘performance (durability) and
‘responsible sourcing’. Each of these elements is very specific to the individual
product and cannot be informed by past studies with any degree of accuracy.

Where the current evidence is inconclusive, the NRA may require further evidence to be
provided to evaluate these indicators quantitatively. In this case it should proceed to specify
the methodologies it wishes to see used to measure the indicators, and decide who should
measure them (the product manufacturer, contractor, someone in-house or an independent
research organisation or test house). The methodologies selected may be the EDGAR
recommended methodologies or alternatives that are preferred by the NRA. Where a positive
effect is expected, the NRA may also choose to evaluate these indicators to reinforce the
case for use of the product on the network.

4.3 Methodology review and selection

Each indicator in the basket would need to be assessed using an appropriate methodology in
order to enable NRAs to perform Step D in the assessment process. Towards this end, a
review was embarked on to identify potential methods of assessment (‘methodologies’)

/ c E\D R
14 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



CEDR Call 2013: Programme name

against each indicator. The following considerations were explored during the identification
process:

a) Brief overview — describing the methodology and who developed it.

b) Input parameters and data requirements — the data required prior to the assessment
commencing.

c) Timescale for data collection — the hours, days or weeks to gather the data required
to perform an assessment.

d) Applicable life cycle steps — whether the life cycle is cradle-to-gate, cradle-to-grave,
or otherwise streamlined. Are the applicable life cycle stages adequately covered?

e) Ease of assessment and knowledge required — what level of expert knowledge
required to complete the assessment?

f) Geographical applicability — if the method was developed for an area other than
Europe, could it still be adapted for use in Europe or is it universal?

g) Freely available or available at cost?

h) Format of results — are the results qualitative or quantitative?

i) Ability to differentiate between asphalt mixtures — one of the most important criteria,
since any selected method has to demonstrate the benefits or drawbacks of the new
technology over the status quo.

j) Key advantages and shortcomings — how can the key points be summarised?

The outcome of the review is presented in a separate document:
EDGAR_methodologies_review.xIsx. The findings of the review allowed a methodology (or
methodologies) to be recommended to measure each indicator. The recommended
methodologies are presented in the ‘dashboard’ in Figure 4-1.

* asPECT v4.0 e Indicator MD-2 e ECORCE v2.0 or e CEN/TS 16637 e Laboratory drum
(cradle-to -gate) from Greenroads PaLATE leaching tests methods
o MIRAVEC (in use) v2.0 (water)
e Pendulum test o LCCAExpress * EDGAR ® Resistance to e BES 6001 e QUADRO
2.0 bespoke fatigue / rutting
methodology / water
sensitivity

Figure 4-1: The EDGAR methodology ‘dashboard’

Some additional justification for the choice of methodology against each indicator is
presented in Table 4-4. Having undertaken the wider review, it became clear that some
characteristics of the methods might be particularly significant to end users, and therefore
helped to inform decision-making regarding the final recommended methodologies. The
characteristics that were thought to be of particular importance were as follows:

e Material focussed — the methods selected should be able to differentiate between
different types of asphalt, based on the subtleties of mixture design, component
material characteristics, production and performance.

¢ Quantitative — ideally the method would result in a quantitative result that is not
ambiguous for the decision-maker, and can be easily utilised in user preference
modelling.

{ a
CEDR
15 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

e Quick and convenient — since the main objective of EDGAR is to ‘screen’ materials,
any method selected should not be too involved or laborious, and therefore produce
relatively quick results.

o Cost effective — in order to facilitate take-up of the EDGAR methodology across
Europe it was anticipated that NRAs would ideally not wish to pay significant amounts
to access the chosen methodologies.

/ CEDR
16 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

Table 4-4: Additional justification for methodology selection

Indicator Recommended N Main reason(s) for selection
methodology [}
o 2
-3 ®
83 = | g
g5 5§ |8 |9
c O S S o
=L 0O |0 |
) An established method that offers the most granularity in results with regards to
EPEC. v ieEnlk v v v | specific characteristics of asphalt mixtures, their production and CO,e quantification.
to -gate) : . ) o T
Can be universally applied with country-specific emissions factors.
. The only tool identified that can equate macro-texture and road roughness (which
MIRAVEC (in use v v .
hase impacts) _need to pe measured elsewhere at cost) of pavement materials to CO,e. Developed
P in a previous CEDR (road ERA-net) programme.
Few tools are actually dedicated to measuring recycled & recovered content,
Indicator MD-2 from v v v however, this method (path 2) is directly applicable to highway materials. Access to
Greenroads v2.0 manual available at minimal cost.
ECORCE v2.0 or Once this tool is made universal in terms of datasets then it will provide the best
PalLATE ' 4 v v' | alternative to commercially available LCA software for measuring AP, POCP etc.
Until that time PaLATE provides a viable alternative.
CEN/TS 16637 v v v A standardised European method devised specifically for testing construction
leaching tests material monoliths (e.g. asphalt blocks).
Laboratory drum Most noise measurements need a full scale trial section. The drum method can be
methods y v v v performed in the laboratory with good accuracy and cut down the cost and time
requirement.
Pendulum test v v v A standardised E_urlopean method devised specifically for testing road and airfield
surface characteristics.
LCCAExpress 2.0 v v v ~ | A straightforward and accurate costing method with dedicated software, devised

specifically for highways.

f a
CEDR

17 \ , Conférence Européenne

des Directeurs des Routes

o

Conference of European
Directors of Roads




CEDR Call 2013: Programme name

Indicator Selected N Main reason(s) for selection
methodology -‘_g 3 .% & o
235 |& | ¢
S| sS
(0
EDGAR bespoke v v ~ | In the absence of other tools, a methodology was devised specifically to measure
methodology recyclability of asphalt materials. Not quantitative.
Resistance to fatigue v v v All well-established standardised European methods that can be performed routinely
Resist o TUTh - - - in laboratories. The method(s) should be selected based on the specific concerns
esistance to rutting with the materials.
Water sensitivity v v v
Stiffness v v v
The only standardised method that could be identified to specifically measure
BES 6001 v v v | several elements of responsible sourcing. A points based system so outputs not
strictly quantitative.
Modelling traffic flows requires dedicated software that is only available at (small)
QUADRO v v v

cost. QUADRO is a proven application to measure cost and CO,e implications of
traffic management scenarios, hour-by-hour.

f a
CEDR

18 \ , Conférence Européenne

des Directeurs des Routes

Conference of European
Directors of Roads

o




CEDR Call 2013: Programme name
|

4.4 Reference material comparison

All eleven indicators have been selected on the basis that any assessments will be made by
comparing the technology with an appropriate reference material or life-cycle activity. There
is no one ‘reference’ asphalt; the reference should be selected on a case-by-case basis. A
few examples would be as follows:

The technology is a lower-temperature asphalt. Compare it to the conventional hot mix
asphalt that it is anticipated to replace.

The technology is asphalt containing a secondary material as an aggregate or binder
replacement. Compare it to the conventional hot mix asphalt with primary material e.g. an
asphalt concrete mixture.

The technology is a novel process e.g. in situ patching. Compare it to the processes in
the conventional asphalt life cycle that it is designed to replace, in this case hot mix
asphalt production, transport to site, preparation of the substrate, and laying and
compaction.

Making a relative comparison with a reference material also means that there is no absolute
requirement to convert the non-metric units that result from some tools (e.g. LCCAExpress
2.0 provides results in US Dollars per mile).

4.5 Signposting

Figure 4-2 signposts to a location where additional information on each recommended
methodology can be found.

. asPECT v4.0

Global warming potential

. MIRAVEC
Depletion of resourecs and waste management e  Greenroads v2.0
Air pollution e ECORCE v2.0 or PaLATE
Leaching potential e 16637 Part 1 and 16637 Part 2

. Vehicle-Pavement interaction
. Asphalt Pavement Texture and Noise

Skid resistance e  Pendulum test

. LCCAEXxpress 2.0

. EDGAR bespoke methodology

+ [Fatique e Water sensitivity
. Rutting e  Stiffness
. BES 6001

Traffic congestion e QUADRO

Figure 4-2: Signposting to further information on selected methodologies

/ CEDR
19 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o


http://www.sustainabilityofhighways.org.uk/
http://www.fehrl.org/?m=321
https://www.greenroads.org/subscribe
http://ecorce2.ifsttar.fr/
http://www.ce.berkeley.edu/~horvath/palate.html
http://www.bast.de/EN/FB-F/Technology/F3-e-PFF.html
http://www.vejdirektoratet.dk/DA/viden_og_data/publikationer/Lists/Publikationer/Attachments/776/149966_Texture_noise_WEB.pdf
http://www.apa-mi.org/docs/Asphalt_LCCAExpress_ARI2-2.pdf
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:37047&cs=173C017A235B87804B3F4BF5CA4B96099
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:10724&cs=1563F24A6928F51A7C1F898BF0791F020
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:30114&cs=1A125C161E6D28FFC2573074F94355DBC
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:34993&cs=14ECB096170E9F59AADA6125A2CA346DA
http://www.greenbooklive.com/search/scheme.jsp?id=153
http://www.greenbooklive.com/search/scheme.jsp?id=153
http://www.help2park.com/quadro/quadro.html
http://www.help2park.com/quadro/quadro.html
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:34856&cs=1E13A9A5CBFCA127FD9F88DEF147D04BD
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:34857&cs=16273D854F6C58FF559352DAF6015239B
http://standards.cen.eu/dyn/www/f?p=204:110:0::::FSP_PROJECT:32216&cs=14025CB99391425FA085F53C6803E7FCA

CEDR Call 2013: Programme name

5 User preference — alternatives ranking

Once the various criteria (basket of indicators) and the methods used in order to assess the
alternatives according to the selected criteria have been selected, a decision support
methodology has to be defined. This methodology should be able to consider user
preferences.

In a first phase, the various alternatives (i.e. green technologies) have to be assessed

according to the indicators that are summarized in Table 5-1. The output format of the

selected indicators can be diverse as some indicators are qualitative (recyclability,

responsible sourcing) and some other quantitative. Besides, the boundaries for the

evaluation process according to a given indicator can also vary:

¢ Some indicators concern the whole life cycle of the product (for example: climate change,
depletion of resources & waste management, air pollution...).

e Some indicators concern only a specific stage of the products lifecycle (for example:
noise, mechanical performance, traffic congestion...).

The evaluation of the various alternatives according to the selected indicator permits to
create a table of performance that will be further used for the decision process methodology.

Table 5-1: Format of output data from each recommended methodology

Indicator Selected Output format Comments
methodology

asPECT v4.0 (cradle-

to -gate) kgCO.e per tonne of asphalt

Some investigation
required to isolate the
CO, in tonnes roughness and macro
texture effects from
others considered.

MIRAVEC (in use
phase impacts)

1 point. 8% recycled

2 points 18% recycled
Indicator MD-2 from

i 0,
Greenroads v2.0 3 points. 28% recycled

4 points. 38% recycled
5 points. 48% recycled

ECORCE v2.0 or Emissions per tonne of
PaLATE asphalt
CEN/TS 16637 mg pollutant / m” surface
leaching tests area
methods Statistical pass-by (SPB) dB
Pendulum test Pendulum test value (PTV)
.

20 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

Could be converted to

LCCAExpress 2.0 $/mile €/km or left ‘as is’ for
relative comparison

E?ﬂi’?& gs@%@ke A score 0-100
Resistance to fatigue £ Microstrain
Resistance to rutting mm at rate ym/cycle

Water sensitivity ITSR %

Stiffness GPa

Points system or Excellent /

BES 6001 Very Good / Good / Pass

Per m” results / per
hour results can be
extracted if required.

User costs (£) per traffic

QUADRO .
management scenario

Based on the selected indicators, an evaluation and decision support methodology has been
defined. This methodology should aim at ranking the various alternatives and help in the
decision process, this also by integrating some probabilistic aspects.

The methodology developed comprises four independent levels that are roughly summarised
in Figure 5-1, each bringing its own contribution to the decision making process.

/ CEDR
2 1 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

1-EVALUATION OF THE ALTERNATIVES
- Basket of indicators
- Methods for indicator assessment
- Result: For each alternative, evaluation of the different indicators (performance table)

L2
2 - GLOBAL EVALUATION METHODOLOGY (DECISION MAKING)

*Objective: Identify the dominant processes for each alternative and criteria )

+Data: Raw and normalized performance indicators
«Criteria: Energy, emissions, cost (energy) and performances

*Method: Pareto analysis J
*Objective: Identify potential altemative outranking )
+Data: Raw and normalized performance indicators

«Criteria: Energy, emissions, cost (energy) and performances

*Method: Graphical analysis and radar diagram Y,

*Objective: Altematives ranking

+Data: Raw
Level 3 o L .
Partial «Criteria: Energy, emissions, cost (energy), performances and qualitative
agg fi *Method: Partial agregation (Electre IIl)
*Objective: Altematives ranking
*Data: Raw
Level 4 Criteria: E o 5 g ltati
Co +Criteria: Energy, emissions, cost (energy), performances and qualitative
- +Method: Complete agregation (Evidential reasoning approach
aggregation plete agregation ( g approach)

v

SUSTAINABILITY ASSESSMENT (COMPARISON WITH REF)

Figure 5-1: Overview of the global evaluation methodology

In the first level, a Pareto representation is used to identify the dominant processes over the
lifespan of each alternative. This first level does not aim at comparing the various
alternatives, but focuses on the LCI phases of the alternatives. The performances and other
qualitative criteria are not considered at this first evaluation stage. Even if this first step does
not permit to assist in the decision process, some interesting information regarding the effect
of each separate life cycle stage is provided. By highlighting the dominant processes, one
can better allocate the efforts in gathering data by focusing on the most important life cycle
stages.

A first comparison of the alternatives is conducted at the second evaluation level. To achieve
this, various graphical analyses are used in order to highlight the potential outranking
alternatives. In these first two levels, raw data are used, without any treatment or weighing.
This means also that only quantitative indicators can be taken into account at the second
evaluation level.

User preferences and qualitative criteria are introduced at the third analysis level, through the
introduction of multi-attribute decision making (MADM) methodologies. There are two major
“families” of MADM methods, namely partial and complete aggregation, each having their
own distinct advantages and properties. There is no perfect MADM method; the choice of
method depends on the type of problem to be solved. Thus, existing methods applied in
MADM domains were selected for implementation in the specific context of asphalt mixture

{ a
CEDR
22 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

evaluation. Besides the quantitative criteria considered in the first two levels, the various
qualitative criteria are considered from the third evaluation level.

In the third evaluation level, a partial aggregation method using pseudo-criteria is proposed.
The favoured option in this respect was the ELECTRE Il method, which has been widely
used in the environmental domain (Maystre et al., 1994a). This method presents the
particular property of considering various outranking degrees by comparison of two
alternatives meaning that a slight difference for a given indicator does not necessarily mean
a better performance. Threshold values have to be defined in order to distinguish the various
outranking degrees. The MADM method applied also has the particularity that it does not
allow compensation between criteria for a given alternative and the equality between two
alternatives can be the result of a given evaluation process.

The fourth evaluation level uses an algorithm derived from the Evidential Reasoning (ER)
approach. This consists of a complete aggregation method, based on the Dempster-Shafer
theory, but modified for application in framework of MADM (Yang and Singh, 1994). The
fourth evaluation level is also the most complex, but it allows the model to take into account
the occurrence probability of a given performance (for instance: 80 % confidence that the
performance is "good" and 20 % that the performance is "average"). Data unknown is also
considered in the ER approach applied, meaning that it is not compulsory to evaluate all the
criteria for a given alternative. In case a performance is not available, then the confidence
degree in the final evaluation will be lower. Finally, as for every complete aggregation
method, the utility of each alternative is calculated and the ranking determined according to
some transfer function.

The final methodology proposed is based on the work carried out by (Bueche, 2011).

{ a
CEDR
23 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

6 Conclusions & recommendations

It was decided that enhancing the evidence base in a targeted manner was a necessary step
to improve confidence amongst road authorities to use novel bituminous technologies on the
road network. Innovation in the bituminous materials sector has always been healthy, with a
wide-range of technologies coming to market that address all elements of the asphalt life-
cycle. Uptake of these technologies has rarely reached potential capacity, partly because
NRA'’s have been unable to fully appraise the risks associated with full-scale deployment on
the network. Furthermore the shift towards more sustainable practice now often features
within the strategic approaches of NRAs, but the claims surrounding the use of novel
technologies are often unfounded, or indeed unexplored, hence informed decision-making
with sustainability-related issues cannot take place.

The EDGAR project set out to address some of the deficiencies in the evidence-base
surrounding the use of novel technologies and provide a framework for informed decision-
making with regards to their sustainability attributes. The first objective was to understand the
other relevant information sources already available to NRAs. Environmental Product
Declarations (EPDs) were determined to be environmental profiles produced for products
that were already well established, providing information on materials for use in ‘green’
building rating systems, by means of an often lengthy assessment process. A process
needed to be developed that could complement EPDs, to quickly screen out any
unsustainable products before any wide scale deployment was even considered. The range
of impacts considered by EPDs on the one hand could be streamlined, since EDGAR would
look at only one product category; bituminous materials, but on the other hand could be
supplemented to investigate social and economic considerations and make a more rounded
‘sustainability assessment’. The LCA technique of normalisation was used to identify the
most significant impact categories to asphalt. A basket of eleven indicators that would sit at
the heart of the EDGAR methodology resulted.

The second objective was to identify appropriate methodologies that could be used to
measure each indicator in the basket. One of the foremost considerations in this process was
not to ‘reinvent the wheel’ in relation to methodologies, since such effort in past research has
already been dedicated to the development process. Instead the task focussed on selecting
and signposting the most applicable from the range already available, with due consideration
given to time, cost, scope and repeatability, and perhaps most importantly the ability to
differentiate one bituminous technology from another; the novel from the conventional, and to
consider the life cycle stages of a highway that are really affected by the choice of asphalt.
Alongside the basket of indicators, a multi-attribute decision making (MADM) approach has
been proposed to assist the decision-maker in interpreting the results arising from different
indicators. This part of the methodology will be fully demonstrated in EDGAR Deliverable 3.1.

The framework that resulted included a six-step process for NRAs to follow when considering
a novel technology, commencing with raising concerns, selecting appropriate indicators from
the basket to be measured, utilising the results with the assistance of user-preference
modelling and making a final decision concerning use of the technology. Use of the
methodology will be demonstrated in WP3 with three case studies.

I -
CEDR
24 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

7 Acknowledgement

The research presented in this report/paper/deliverable was carried out as part of the CEDR
Transnational Road Research Programme Call 2013. The funding for the research was
provided by the national road administrations of Austria, Germany, Netherlands, Norway,

Slovenia and UK.

/ CEDR
25 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

8 References

AASHTO, TP10-93, “Standard Test Method for Thermal Stress Restrained Specimen Tensile
Strength”, American Association of State Highway and Transportation officials, Washington
DC, 1993

AASHTOWare (n.d.) “AASHTOWare Pavement: For state-of-the-art pavement design”,
http://www.aashtoware.org/Pavement/Pages/default.aspx (Last accessed 20 August 2015)

Acciona Infraestructuras (2013) “Environmental product declaration N-340 road”, S-P-00516

Adams G, Kamst F, Pugh S and Claughton D (2006) “Dynamic measurement of tyre/road
noise”, Proceedings of ACOUSTICS 2006, 20-22 November 2006, Christchurch, New
Zealand

Airey G D, Collop A C, Thom N H and Zoorob S E (2004) “Use of steel slag and recycled
glass in bituminous mixtures” in Proceedings of the 3rd Eurasphalt and Eurobitume
Congress held in Vienna, May 2004

Aktas B, Karasahin M, Akko¢ E and Cagri Bayrak M (2012) “Usability of waste roofing
shingle, PVC and plastic glasses in asphalt concrete” in Proceedings of the 5th Eurasphalt &
Eurobitume Congress, Istanbul, 13-15 June 2012, Foundation Eurasphalt, Belgium

AkzoNobel (n.d.) “Adhesion promoters: Technical bulletin”,
http://sc.akzonobel.com/en/asphalt/Documents/AN _Asphalt Adhesion TB_eng.pdf (Last
accessed 26 August 2015)

Alkins A E, Lane B. and Kazmierowski T (2008) “Sustainable pavements: Environmental,
economic, and social benefits of in situ pavement recycling”, Transportation research record
No. 2084, p100-103

Asphalt Pavement Alliance (APA) (n.d.) “Life-cycle cost”, http://www.asphaltroads.org/why-
asphalt/economics/life-cycle-cost/ (Last accessed 20 August 2015)

Asphalt Pavement Association of Michigan (2008) “LCCA express”, http://www.apa-
mi.org/life_cycle cost.php (Last accessed 29 September 2015)

Asphalt Pro (2013) “Rubberized asphalt lowers costs”, http://theasphaltpro.com/rubberized-
asphalt-lowers-costs/ (Last accessed 26 August 2015)

Athena Sustainable Materials Institute (2013) “Impact estimator for highways: User guide”,
http://www.athenasmi.org/wp-

content/uploads/2012/01/ImpactEstimatorForHighways UserGuide.pdf (Last accessed 19
August 2015)

Athena Sustainable Materials Institute (2015) “Pavement LCA”,
http://www.athenasmi.org/our-software-data/pavement-Ica/software-overview/ (Last
accessed 19 August 2015)

4

 2ebr
26 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.aashtoware.org/Pavement/Pages/default.aspx
http://sc.akzonobel.com/en/asphalt/Documents/AN_Asphalt_Adhesion_TB_eng.pdf
http://www.asphaltroads.org/why-asphalt/economics/life-cycle-cost/
http://www.asphaltroads.org/why-asphalt/economics/life-cycle-cost/
http://www.apa-mi.org/life_cycle_cost.php
http://www.apa-mi.org/life_cycle_cost.php
http://theasphaltpro.com/rubberized-asphalt-lowers-costs/
http://theasphaltpro.com/rubberized-asphalt-lowers-costs/
http://www.athenasmi.org/wp-content/uploads/2012/01/ImpactEstimatorForHighways_UserGuide.pdf
http://www.athenasmi.org/wp-content/uploads/2012/01/ImpactEstimatorForHighways_UserGuide.pdf
http://www.athenasmi.org/our-software-data/pavement-lca/software-overview/

CEDR Call 2013: Programme name

Aurangzeb Q and Al-Qadi | L (2014) “Asphalt pavements with high RAP content: Economic
and environmental perspectives”, Paper No. 14-3488, Submitted to Transportation Research
Board, 93rd Annual Meeting, Jan 12-16, 2014, Washington, D.C.

Ballinger A (2013) “What’s wrong with WRATE”, Isonomia,
http://www.isonomia.co.uk/?p=2488 (Last accessed 19 August 2015)

BASt (2014). Vehicle-pavement interaction facility, [Available at: http://www.bast.de/EN/FB-
F/Technology/F3-e-PFF.html, last accessed 29 September 2015]

Benbow E, Brittain S and Viner H (2013) “MIRAVEC - Potential for NRAs to provide energy
reducing road infrastructure”, Deliverable D3.1, August 2013,
http://www.eranetroad.org/images/eranet/Downloads/miravec_d3.1 v1.0.pdf (Last accessed
19 August 2015)

Birgisdéttir H (2005) “Life cycle assessment model for road construction and use of residues
from waste incineration”, Institute of Environment & Resources, Technical University of
Denmark, http://www2.er.dtu.dk/publications/fulltext/2005/MR2005-106.pdf (Last accessed
19 August 2015)

BRE (2014) “BRE Environmental and Sustainability Standard: Framework Standard for
Responsible Sourcing”, http://www.greenbooklive.com/filelibrary/responsible sourcing/BES-
6001-Issue-3-Final.pdf (Last accessed 20 August 2015)

BRE (n.d.) “Materials brochure”, http://www.bre.co.uk/filelibrary/greenquide/PDF/KN4791 -
Materials Brochure.pdf (Last accessed 19 August 2015)

BRE SmartWaste, (n.d.) https://www.smartwaste.co.uk/index.jsp (Last accessed 19 August
2015)

BRE SmartWaste (n.d.) “Membership Scheme”,
https://www.smartwaste.co.uk/filelibrary/downloads/86205-
SMARTWaste Membership DIGITAL.pdf (Last accessed 19 August 2015)

BREEAM (2008) “BRE Global Methodology for Environmental Profiles of Construction
Products. SD 6050,

https://www.bre.co.uk/filelibrary/greenquide/PDF/Methodology for Environmental Profiles 2
008 SD6050.pdf (Last accessed 19 August, 2015)

British Standards Institution, BS EN 11819-1:1997, “Acoustics — Measurements of the
influence of road surfaces on traffic noise — Part 1: Statistical Pass-By method”

British Standards Institution, BS EN 12457-2:2002, “Characterisation of waste — Leaching —
Compliance test for leaching of granular waste materials and sludge — Part 2: One stage
batch test at a liquid to solid ratio of 10 I/kg for materials with particle size below 4mm
(without or with size reduction)

British Standards Institution, BS EN 12697-22:2003, “Bituminous mixtures — Test methods
for hot mix asphalt, Part 22: Wheel tracking”

British Standards Institution, BS EN 12697-23:2003, “Bituminous mixtures — Test methods
for hot mix asphalt, Part 23: Determination of the indirect tensile strength of bituminous
specimens”

4

 2ebr
27 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.isonomia.co.uk/?p=2488
http://www.bast.de/EN/FB-F/Technology/F3-e-PFF.html
http://www.bast.de/EN/FB-F/Technology/F3-e-PFF.html
http://www.eranetroad.org/images/eranet/Downloads/miravec_d3.1_v1.0.pdf
http://www2.er.dtu.dk/publications/fulltext/2005/MR2005-106.pdf
http://www.greenbooklive.com/filelibrary/responsible_sourcing/BES-6001-Issue-3-Final.pdf
http://www.greenbooklive.com/filelibrary/responsible_sourcing/BES-6001-Issue-3-Final.pdf
http://www.bre.co.uk/filelibrary/greenguide/PDF/KN4791_-_Materials_Brochure.pdf
http://www.bre.co.uk/filelibrary/greenguide/PDF/KN4791_-_Materials_Brochure.pdf
https://www.smartwaste.co.uk/index.jsp
https://www.smartwaste.co.uk/filelibrary/downloads/86205-SMARTWaste_Membership_DIGITAL.pdf
https://www.smartwaste.co.uk/filelibrary/downloads/86205-SMARTWaste_Membership_DIGITAL.pdf
https://www.bre.co.uk/filelibrary/greenguide/PDF/Methodology_for_Environmental_Profiles_2008_SD6050.pdf
https://www.bre.co.uk/filelibrary/greenguide/PDF/Methodology_for_Environmental_Profiles_2008_SD6050.pdf

CEDR Call 2013: Programme name

British Standards Institution, BS EN 12697-25:2005, “Bituminous mixtures — Test methods
for hot mix asphalt, Part 25: Cyclic compression test”

British Standards Institution, BS EN 14040:2006, “Environmental management — Life cycle
assessment — Principles and frameworks

British Standards Institution, BS EN 12697-12:2008, “Bituminous mixtures — Test methods
for hot mix asphalt, Part 12: Determination of the water sensitivity of bituminous specimens”

British Standards Institution, BS EN12697-24:2012, “Bituminous mixtures — Test methods for
hot mix asphalt, Part 24: Resistance to fatigue

British Standards Institution, BS EN 12697-26:2012, “Bituminous mixtures — Test methods
for hot mix asphalt, Part 26: Stiffness”

British Standards Institution, BS EN 11819-2:2013, “Acoustics — Measurements of the
influence of road surfaces on traffic noise — Part 2: Close-proximity method”

Bueche N (2011) “Evaluation des performances et des impacts des enrobés bitumineux
tiedes”, Thése EPFL No 5169. Lausanne.

Bukowski J, Youtcheff J, Harman T (2012) “An alternative asphalt binder, sulphur-extended
asphalt (SEA)”, TechBrief FHWA-HIF-12-037, US Department of Transportation, 2012.

Buncher M and Rosenberger C (2005) “Understanding the true economics of using polymer
modified asphalt through life cycle cost analysis”,

http://www.asphaltroads.org/assets/ control/content/files/IM029 Understanding%20Economi
€5%200f%20PMA%20Through%20LCC.pdf (Last accessed 26 August 2015)

Carbonneau X, Henrat J P and Létaudin F (2008) “Environmentally friendly energy saving
mixes”, Colas France

Carswell I, Nicholls J C, Widyatmoko |, Harris J and Taylor R (2010) “Best practice guide for
recycling into surface course”, TRL Road Note RN43, Wokingham, UK

CEEQUAL (n.d.) “An introduction to CEEQUAL: Improving sustainability through best
practice”,

http://www.ceequal.com/pdf/ CEEQUAL%20Introduction%20(A4)%20booklet%20%20-
%202015%20Low%20Res.pdf

Chen J-S, Wang C-H and Huang C-C (2009) “Engineering properties of bituminous mixtures
blended with second reclaimed asphalt pavements (R2AP)”, Road Materials and Pavement
Design 10, p129-149

Colange J, Lunot N, Banbury S (2010) “Shell Thiopave®, granules de soufre modifié pour
enrobes bitumineux”, RGRA N° 882: 50-58.

Comité Européen de Normalisation CEN (2005). EN 12697-25:2005, Bituminous mixtures —
Test methods for hot mix asphalt, Part 25: Cyclic compression test

4

 2ebr
28 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.asphaltroads.org/assets/_control/content/files/IM029_Understanding%20Economics%20of%20PMA%20Through%20LCC.pdf
http://www.asphaltroads.org/assets/_control/content/files/IM029_Understanding%20Economics%20of%20PMA%20Through%20LCC.pdf
http://www.ceequal.com/pdf/CEEQUAL%20Introduction%20(A4)%20booklet%20%20-%202015%20Low%20Res.pdf
http://www.ceequal.com/pdf/CEEQUAL%20Introduction%20(A4)%20booklet%20%20-%202015%20Low%20Res.pdf

CEDR Call 2013: Programme name

Comité Européen de Normalisation CEN (2008). EN 12697-12:2008, Bituminous mixtures —
Test methods for hot mix asphalt, Part 12: Determination of the water sensitivity of
bituminous specimens

Comité Européen de Normalisation CEN/TC 350 (2012). EN 15804:2012 - Sustainability of
construction works - Environmental product declarations - Core rules for the product category
of construction products

Comité Européen de Normalisation (2011). EN 13036-4 Road and airfield surface
characteristics - Test methods - Part 4: Method for measurement of slip/skid resistance of a
surface - The pendulum test

Comité Européen de Normalisation CEN (2012). EN 12697-24:2012, Bituminous mixtures —
Test methods for hot mix asphalt, Part 24: Resistance to fatigue

Comité Européen de Normalisation CEN (2012). EN 12697-26:2012, Bituminous mixtures —
Test methods for hot mix asphalt, Part 26: Stiffness

Comité Européen de Normalisation (2014). PD CEN/TS 16637-1:2014, Construction
products — Assessment of release of dangerous substances, Part 1: Guidance for the
determination of leaching tests and additional testing steps

Comité Européen de Normalisation (2014). PD CEN/TS 16637-2:2014, Construction
products — Assessment of release of dangerous substances, Part 2: Horizontal dynamic
surface leaching test

Copeland A (2011) “Reclaimed asphalt pavement in asphalt mixtures: state of the practice”

Council Regulation (EC) 1221/2009 establishing the user’s guide setting out the steps
needed to participate in EMAS, under Regulation (EC) No 1221/2009 of the European
Parliament and of the Council on the voluntary participation by organisations in a Community
eco-management and audit scheme (EMAS), OJ L76/1

Crockford W, Makunike D, Davison R R, Scullion T and Billiter T C (1995) “Recycling crumb
rubber modified asphalt pavements”, Research Report 1333-1F, Texas Transportation
Institute

Danish Technological Institute (DTI) (2013) “Environmental Product Declaration — Fly ash for
concrete, asphalt and cement production”, Emineral a/s, 19 March 2013.

Davis (n.d.) “Roofing the road — Using asphalt shingles as binder”, Asphalt — The magazine
of the Asphalt Institute, http://asphaltmagazine.com/roofing-the-road-using-asphalt-shingles-
as-binder/ (Last accessed 26 August 2015)

De Visscher J, Anastasio S, Bueche N, Hoff I, Maeck J, Peeling J, Schobinger B,
Vanelstraete A Vansteenkiste S, Wayman M (2015). Energy efficient materials and
technologies and their impact on sustainability [Available at: https://www.ntnu.edu/edgar, last
accessed September 2015]

Eco-Reinforcement (n.d.) “Eco-Reinforcement”, http://www.eco-reinforcement.org/home/
(Last accessed 20 August 2015)

4

 2ebr
29 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://asphaltmagazine.com/roofing-the-road-using-asphalt-shingles-as-binder/
http://asphaltmagazine.com/roofing-the-road-using-asphalt-shingles-as-binder/
https://www.ntnu.edu/edgar
http://www.eco-reinforcement.org/home/

CEDR Call 2013: Programme name

Enell A, Wayman M and McNally C (2012) “D3.5 final report — Environmental performance of
RA”, Re-Road — End of life strategies of asphalt pavements, European Commission DG
Research.

European Commission (2015) “Welcome to EMAS”,
http://ec.europa.eu/environment/emas/index_en.htm (Last accessed 19 August 2015)

EUROSLAG, http://www.euroslag.com/home/ (Last accessed 26 August 2015)

Fargione J, Hill J, Tilman D, Polasky S and Hawthorne P (2008) “Land clearing and the
biofuel Carbon debt”, Science 319, p1235-1238

Federal Ministry for Environment, Nature Conservation, Construction and Nuclear Safety
(2013) “Okobau” http://www.nachhaltigesbauen.de/baustoff-und-
gebaeudedaten/oekobaudat.html (Visited 14 November, 2014)

Federation of French Road Building Industry (2014) “Collective environmental and health
data sheet statement (FDES) in accordance with French standard NF P 01-010 — hot mix
asphalt pavement”

Ferreira A and Santos J (2012) “LCCA system for pavement management: sensitivity
analysis to the discount rate”, Procedia — Social and Behavioural Sciences 53, p1174-1183,
SIIV - 5th International Congress — Sustainability of Road Infrastructures

Fionn-Bowman R (2013) “Setting the record straight on the ‘beneficial use’ of coal ash”, Coal
Ash Chronicles, February 8, 2013

Garbarino E, Rodriguez Quintero R, Donatello S and Wolf O (2014) “Revision of Green
Public Procurement Criteria for design, construction and maintenance of roads”, JRC
Technical Reports, December 2014,

http://susproc.jrc.ec.europa.eu/road/docs/2AHWG GPP road_draftTechnicalReport v2.pdf
(Last accessed 19 August 2015)

GreenBookLive (n.d.) “BES 6001 (The Framework Standard for Responsible Sourcing):
FAQs”, http://www.greenbooklive.com/search/scheme.jsp?id=259 (Last accessed 20 August
2015)

Greenroads (2011) “Manual v1.5”, University of Washington
Greenroads (2011) “Abridged Manual v1.5”, Updated February 4, 2011, Washington
Greenroads (n.d.) “The Greenroads manual”, https://www.greenroads.org/1147/1/category-

project-requirements.html (Last accessed 19 Aug 2015) *Note — This link requires being a
member

Haider M and Descornet G (2006) “Noise classification methods for urban road surfaces:
Classification methodology”, Silence, European Commission DG Research, Sixth Framework
Programme Priority 6, Sustainable Development, Global Change & Ecosystems, Integrated
project — Contract N. 516288

Hammarstrom U, Eriksson J, Karlsson R and Yahya M-R (2012) “Rolling resistance model,
fuel consumption model and the traffic energy saving potential from changed road surface
conditions”, VTI Report 748A, http://www.vti.se/en/publications/pdf/rolling-resistance-model-

 2edr
30 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



http://ec.europa.eu/environment/emas/index_en.htm
http://www.euroslag.com/home/
http://www.nachhaltigesbauen.de/baustoff-und-gebaeudedaten/oekobaudat.html
http://www.nachhaltigesbauen.de/baustoff-und-gebaeudedaten/oekobaudat.html
http://susproc.jrc.ec.europa.eu/road/docs/2AHWG_GPP_road_draftTechnicalReport_v2.pdf
http://www.greenbooklive.com/search/scheme.jsp?id=259
https://www.greenroads.org/1147/1/category-project-requirements.html
https://www.greenroads.org/1147/1/category-project-requirements.html
http://www.vti.se/en/publications/pdf/rolling-resistance-model-fuel-consumption-model-and-the-traffic-energy-saving-potential-of-changed-road-surface-conditions.pdf

CEDR Call 2013: Programme name

fuel-consumption-model-and-the-traffic-energy-saving-potential-of-changed-road-surface-
conditions.pdf (Last accessed 19 August 2015)

Hansen K R, Mcgennis R B, Prowell, B and Stonex A (2000) “Current and future use of non-
bituminous components of bituminous paving mixtures”, Committee on characteristics of
nonbituminous components of bituminous paving mixtures: A2D02,
http://www.onlinepubs.trb.org/onlinepubs/millennium/00079.pdf

Haritonovs V, Zaumanis M and Brencis G (2012) “Research on the use of BOF steel slag
aggregates with dolomite sand waste to develop high performance asphalt concrete” in
Proceedings of the 5th Eurasphalt & Eurobitume Congress, Istanbul, 13-15 June 2012,
Foundation Eurasphalt, Belgium

Hassan K E, Elghali L and Sowerby C (2003) “Development of new materials for secondary
and recycled aggregates in highway infrastructure”, Unpublished project report PR CPS/30/3,
TRL Limited.

Highways Agency (2001) “Part 0: The application of the QUADRO manual”’, Volume 14
Economic Assessment of Road Maintenance, Section 1 The QUADRO manual,
http://www.persona.uk.com/A21Ton/Core_dox/H/H12.pdf (Last accessed 20 August 2015)

Highways Agency (n.d.) “Part 0: The application of the COBA manual”, Volume 13 Economic
Assessment of Road Schemes, Section 1 The Coba Manual, DD199,
http://www.norfolk.gov.uk/view/NCC144904 (Last accessed 20 August 2015)

Huang Y (2007) “Life Cycle Assessment of Use of Recycled Materials in Asphalt
Pavements”, Newcastle University.

Huang Y, Hakim B and Zammataro S (2012) “Measuring the carbon footprint of road
construction using CHANGER?”, International Journal of Pavement Engineering 14 (6), p1-11

IARC Monographs (2011) “Bitumens and bitumen emissions, and some N- and S-
heterocyclic polycyclic aromatic hydrocarbons”, IARC Monographs on the evaluation of
carcinogenic risks to humans, Volume 103, Lyon, 11-18 October 2011

ILCD (2010) “General guide for life cycle assessment — detailed guidance.” First edition.
European Union, 2010 p113-114

IFSTTAR (2013) “Eco-comparator ECORCE2 Road Construction Maintenance Ecocalculator
V27, http://ecorce?2.ifsttar.fr/ (Last accessed 19 August 2015)

Jones R (n.d.) “The use of LCA within the Environment Agency”, Environment Agency,
http://www.bath.ac.uk/research/seminars/esrc/lca/RhiannonBath090708.pdf

Kaloush K E, Biligiri K P, Zeiada W A, Rodezno M C and Reed J X (2010) “Evaluation of
fiber-reinforced asphalt mixtures using advanced material characterization tests”, Journal of
Testing and Evaluation, 38(1)

Karras G (2010) “Combustion emissions from refining lower quality oil: What is the global
warming potential?”, Environmental science & technology 44, p9584-9589.

Kerali H R (n.d.) “The role of HDM-4 in road management”,
http://ntl.bts.gov/lib/12000/12100/12140/pdf/Kerali.pdf (Last accessed 20 August 2015)

I
a )
CEDR

3 1 \ Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads


http://www.vti.se/en/publications/pdf/rolling-resistance-model-fuel-consumption-model-and-the-traffic-energy-saving-potential-of-changed-road-surface-conditions.pdf
http://www.vti.se/en/publications/pdf/rolling-resistance-model-fuel-consumption-model-and-the-traffic-energy-saving-potential-of-changed-road-surface-conditions.pdf
http://www.onlinepubs.trb.org/onlinepubs/millennium/00079.pdf
http://www.persona.uk.com/A21Ton/Core_dox/H/H12.pdf
http://www.norfolk.gov.uk/view/NCC144904
http://ecorce2.ifsttar.fr/
http://www.bath.ac.uk/research/seminars/esrc/lca/RhiannonBath090708.pdf
http://ntl.bts.gov/lib/12000/12100/12140/pdf/Kerali.pdf

CEDR Call 2013: Programme name

Kriech A J (1990) “Evaluation of hot mix asphalt for leachability”, Heritage Research Group,
October 15, 1990

Kristjansdottir O (2006) “Warm Mix Asphalt for Cold Weather Paving”, Report No WA-RD
650.1, University of Washington.

Lecomte M, Deygout F and Menetti A (2008) “500-015 Emission and occupational exposure
at lower asphalt production and laying temperatures”, E&E 2008.

Lesueur D (2010) “Hydrated lime: A proven additive for durable asphalt pavements — Critical
literature review”, Brussels: European Lime Association (EuLA), http://www.eula.eu (Last
accessed 25 August 2015)

Levin J O and Jarvholm B (1999) “Asphalt fumes: Exposure to PAH and amines”, American
Journal of Industrial Medicine”, 36, p147-148.

Maystre, L. Y., Pictet J., and al. (1994a). Méthodes multicritéeres ELECTRE. In Presses
Polytechniques et Universitaires Romandes.

McDaniel R S (2012) “Steel furnace slag in hot mix asphalt”, Industrial Materials Conference,
November 29, 2012, North Central Superpave Center

McDaniel R S (2015) “Fiber additives in asphalt mixtures: A synthesis of highway practice”,
National Cooperative Highway Research Program (NCHRP) Synthesis 475, Transportation
Research Board of the National Academies,
http://onlinepubs.trb.org/onlinepubs/nchrp/nchrp _syn 475.pdf (Last accessed 26 August
2015)

McDougall F B (n.d.) “The use of life cycle assessment tools to develop sustainable
municipal solid waste management systems”, Procter & Gamble,
http://www.bvsde.paho.org/bvsaidis/mexico2005/McDougall.pdf (Last accessed 19 August
2015)

Mollenhauer K, De Visscher J, Carswell | and Karlsson R (2012) “D2.7 Impact of reclaimed
asphalt characteristics on mix design and performance — Final report”, Re-Road — End of life
strategies of asphalt pavements, European Commission DG Research.

Mroueh A-M, Eskola P, Laine-Ylijoki J (2001) “Life-cycle impacts of the use of industrial by-
products in road and earth construction”, Waste Management 21, p.271-277.

National Asphalt Pavement Association (NAPA) (n.d.) “Greenhouse Gas Calculator”,
http://www.asphaltpavement.org/index.php?option=com_content&task=view&id=545&Itemid
=1143 (Last accessed 19 August 2015)

Nicholls J C (2006) “BitVal — Analysis of available data for validation of bitumen tests”,
http://bitval.fehrl.org (Last accessed 26 August 2015)

Nicholls J C (2009) “Review of Shell Thiopave™ sulphur extended asphalt modifier’, TRL
Report, TRL 672, (Last accessed 26 August 2015)

NIST Engineering Laboratory (2014) “BEES”,
http://www.nist.gov/el/economics/BEESSoftware.cfm (Last accessed 20 August 2015)

I
a )
CEDR

32 \ Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads


http://www.eula.eu/
http://onlinepubs.trb.org/onlinepubs/nchrp/nchrp_syn_475.pdf
http://www.bvsde.paho.org/bvsaidis/mexico2005/McDougall.pdf
http://www.asphaltpavement.org/index.php?option=com_content&task=view&id=545&Itemid=1143
http://www.asphaltpavement.org/index.php?option=com_content&task=view&id=545&Itemid=1143
http://bitval.fehrl.org/
http://www.nist.gov/el/economics/BEESSoftware.cfm

CEDR Call 2013: Programme name

Norwegian EPD Foundation (2011) “Environmental declaration AGB 11 asfalt
(bransjegjennomsnitt)”, 216N

Norwegian Public Roads Administration (NPRA) (2014) “Pavement design guidelines N200
(In Norwegian)”, http://www.vegvesen.no/Fag/Publikasjoner/Handboker (Last accessed 26
August 2015)

Organisation for Economic Co-Operation and Development (OECD) (2005) “Economic
Evaluation of Long-Life Pavements: Phase 17,
http://www.internationaltransportforum.org/pub/pdf/05Pavementl.pdf (Last accessed 20
August 2015)

Paje S E, Luong J, Vazquez V F, Bueno M and Miré R (2013) “Road pavement rehabilitation
using a binder with a high content of crumb rubber: Influence on noise reduction”,
Construction and Building Materials 47, p789-798

Parra L, Casas T, Alvarez de Sotomayor R, del Cerro J and Castillo E, 2012, “CPX noise
measurements in different road surfaces”, SURF 2012, 7th symposium on pavement surface
characteristics, Norfolk, Virginia, September 19-22, 2012

Parsons Brinckerhoff (2009) “Carbon calculation tool instruction manual for Design, Build and

Finance Operations (DBFO)”, Version 5C, December 2009, Prepared for the Highways

Agency

https://www.gov.uk/government/uploads/system/uploads/attachment _data/file/360694/DBFO
HA Carbon_Calculation_Instruction_Manual.pdf (Last accessed 19 August 2015)

PE International (2011) “GaBi paper clip tutorial: Handbook for Life Cycle Assessment, Using
the GaBi software”, http://www.qgabi-

software.com/fileadmin/Marketing Material GaBi/GaBi_Paper Clip_Tutorial Handbook 5.p
df (Last accessed 19 August 2015)

PE International (n.d.) “GaBi Product Sustainability Software”, http://www.gabi-
software.com/uploads/media/GaBi PSP_suite 02.pdf (Last accessed 19 August 2015)

Piérard N, Brichant P-P, Denolf K, Destree A, De Visscher J, Vanelstraete A and
Vansteenkiste S (2013) “Gekleurde asfaltmengsels — praktische aanbevelingen voor de
materiaalkeuze, het ontwerp en de verwerking — objectieve bepaling van de kleur”, Dossier
17 OCW Mededelingen.

Pioneer Road Services (n.d.) “Project evaluation report: Recycled glass in asphalt”,
http://www.wasteauthority.wa.gov.au/mediaffiles/grant _projects/SWIS 2007 Final Report P
ioneer Road used glass.pdf (Last accessed 26 August 2015)

Planche J-P (2012) “Moderator report by Jean-Pascal Planche (Western Research Institute)
on Resource Use and Recycling” in Proceedings of the 5th Eurasphalt & Eurobitume
Congress, Istanbul, Turkey, June 2012

Plug C P, de Bondt A H and Smits N C (2012) “Development of a durable noise reducing thin
surfacing for heavy traffic”, in Proceedings of the 5th Eurasphalt & Eurobitume Congress,
Istanbul, Turkey, June 2012

Pré (n.d.) http://www.pre-sustainability.com/ (Last accessed 19 August 2015)
I

4

 2ebr
33 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.vegvesen.no/Fag/Publikasjoner/Handboker
http://www.internationaltransportforum.org/pub/pdf/05PavementI.pdf
https://www.gov.uk/government/uploads/system/uploads/attachment_data/file/360694/DBFO_HA_Carbon_Calculation_Instruction_Manual.pdf
https://www.gov.uk/government/uploads/system/uploads/attachment_data/file/360694/DBFO_HA_Carbon_Calculation_Instruction_Manual.pdf
http://www.gabi-software.com/fileadmin/Marketing_Material_GaBi/GaBi_Paper_Clip_Tutorial_Handbook_5.pdf
http://www.gabi-software.com/fileadmin/Marketing_Material_GaBi/GaBi_Paper_Clip_Tutorial_Handbook_5.pdf
http://www.gabi-software.com/fileadmin/Marketing_Material_GaBi/GaBi_Paper_Clip_Tutorial_Handbook_5.pdf
http://www.gabi-software.com/uploads/media/GaBi_PSP_suite_02.pdf
http://www.gabi-software.com/uploads/media/GaBi_PSP_suite_02.pdf
http://www.wasteauthority.wa.gov.au/media/files/grant_projects/SWIS_2007_Final_Report_Pioneer_Road_used_glass.pdf
http://www.wasteauthority.wa.gov.au/media/files/grant_projects/SWIS_2007_Final_Report_Pioneer_Road_used_glass.pdf
http://www.pre-sustainability.com/

CEDR Call 2013: Programme name

Prowell B, Hurley G, and Frank B (2007) “Warm-mix asphalt: best practices 2nd edition
QIP125”, National asphalt pavement association, Lanham.

Read J and Whiteoak D (2003) “The Shell bitumen handbook”, Thomas Telford Publishing,
London.

Reherman C N, Rochat J L, Thalheimer E S, Lau M C, Fleming G G, Ferroni M and Corbisier
C (2006) “FHWA roadway construction noise model user’s guide”, US Department of
Transportation, Federal Highway Administration, FHWA-HEP-05-054DOT-VNTSC-FHWA-
05-01, Final Report, January 2006

Reid J M, Chandler J W E, Schiavi I, Hewitt A P, Griffiths R and Bendall E (2008)
“Sustainable choice of materials for highway works”, PPR233, Wokingham, TRL
Limited

Roe P G (2005) “A continuing study of the skid resistance performance of BOS slag used as
a road surface course aggregate”, TRL report

Rijkswaterstaat (n.d.) “DuboCalc”, http://www.rijkswaterstaat.nl/zakelijk/zakendoen-met-
rijkswaterstaat/inkoopbeleid/duurzaam-inkopen/duurzaamheid-bij-contracten-en-
aanbestedingen/dubocalc/index.aspx (Last accessed 19 August 2015)

SBK (2012) “Nationale Milieudatabase Stichting Bouwkwaliteit”,
https://www.milieudatabase.nl/ (Visited 09 January 2015)

Scanlon K A, Lloyd S M, Gray G M, Francis R A and LaPuma P (2015) “’An approach to
integrating occupational safety and health into life cycle assessment: Development and
application of work environment characterisation factors”, Journal of Industrial Ecology 19(1),
p27-37

Schlegel T, Puiatti D, Ritter H-J, Lesueur D, Petit J, Shtiza A (2015) “The limits of partial life
cycle assessment studies in the road industry: a case study on the use of hydrated lime in
Hot Mix Asphalt”

Serfass J-P, Carbonneau X, Delfosse F and Triquigneaux J-P (2010) “Emulsified asphalt
mixes 1 — Assessment methodology and behaviour”, RGRA No. 887, September 2010

Shen J, Amirkhanian S and Aune Miller J (2007) “Effects of rejuvenating agents on
superpave mixtures containing reclaimed asphalt pavement”, Journal of Materials in Civil
Engineering 19, p376-384.

Swieczko-Zurek B, Ejsmont J, Ronowski G and Taryma S (2014) “Comparison of road and
laboratory measurements of tyre/road noise”, Inter-noise 2014, Melbourne, Australia, 16-19
November

Townsend T, Powell J and Xu C (2007) “Environmental issues associated with asphalt
shingle recycling”, Prepared for Constructions Materials Recycling Association, Asphalt
Shingle Recycling Project, US EPA Innovations Workgroup,
http://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/rss2.cfm (Last
accessed 26 August 2015)

4

 2ebr
34 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.rijkswaterstaat.nl/zakelijk/zakendoen-met-rijkswaterstaat/inkoopbeleid/duurzaam-inkopen/duurzaamheid-bij-contracten-en-aanbestedingen/dubocalc/index.aspx
http://www.rijkswaterstaat.nl/zakelijk/zakendoen-met-rijkswaterstaat/inkoopbeleid/duurzaam-inkopen/duurzaamheid-bij-contracten-en-aanbestedingen/dubocalc/index.aspx
http://www.rijkswaterstaat.nl/zakelijk/zakendoen-met-rijkswaterstaat/inkoopbeleid/duurzaam-inkopen/duurzaamheid-bij-contracten-en-aanbestedingen/dubocalc/index.aspx
https://www.milieudatabase.nl/
http://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/rss2.cfm

CEDR Call 2013: Programme name

Tran N, Taylor A and Willis R (2012) “Effect of rejuvenator on performance properties of
HMA mixtures with high RAP and RAS contents”, Auburn, AL: National Center for Asphalt
Technology.

Umberto (2015) “Umberto NXT Efficiency (v7.1): User manual”, ifu Hamburg GmbH

Umberto (n.d.) “Umberto NXT Efficiency”, http://www.umberto.de/en/versions/umberto-nxt-
efficiency (Last accessed 20 August 2015)

University of California (2007) “PaLATE: Pavement life-cycle assessment tool for
environmental and economic effects”, Consortium on Green Design and Manufacturing,
University of California, Berkeley

Universiteit Leiden, Website of Instititute of Environmental Sciences (CML) (2010)
“CML-IA Characterisation Factors”
http://cml.leiden.edu/software/data-cmlia.html (Visited 13 August, 2014)

US Department of Transportation Federal Highway Administration (FHWA) (2004) “Life-cycle
cost analysis RealCost user manual”, Office of Asset Management, May 2004,
http://www.fhwa.dot.gov/infrastructure/asstmgmt/rc210704.pdf (Last accessed 15 August
2015)

US Department of Transportation Federal Highway Administration (FHWA), (2012a), “User
guidelines for waste and by-product materials in pavement construction: Coal fly ash”,
https://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/cfas51.cfim
(Visited 26 August 2015)

US Department of Transportation Federal Highway Administration (FHWA), (2012b), “User
guidelines for waste and by-product materials in pavement construction: Roofing shingle
scrap user guidelines”,
http://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/rss2.cfm
(Visited 26 August 2015)

US Environmental Protection Agency (EPA) (2015) “SW-846 On-line”,
http://www.epa.gov/solidwaste/hazard/testmethods/sw846/online/index.htm (Last accessed
20 August 2015)

US Environmental Protection Agency (EPA) (2015) “MOVES (Motor Vehicle Emission
Simulator)”, http://www.epa.gov/otag/models/moves/ (Last accessed 20 August 2015)

USIRF (n.d.) “Eco compare/SEVE”, http://www.usirf.com/les-actions-de-la-
profession/developpement-durable/eco-comparateurseve/ (Last accessed 19 August 2015)

Van Bochove G, Bolk H, Lecomte M and Poncelet K (2012) “Lowering the production
temperature of asphalt while incorporating a high proportion of recycled material” in
Proceedings of the 5th Eurasphalt & Eurobitume Congress, Istanbul, 13-15 June 2012,
Foundation Eurasphalt, Belgium

Van de Ven M F C, Sluer B W, Jenkins K J and Van den Beemt C M A (2012) “New

developments with half-warm foamed bitumen asphalt mixtures for sustainable and durable
pavement solutions”, Taylor & Francis

4

 2ebr
35 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


http://www.umberto.de/en/versions/umberto-nxt-efficiency
http://www.umberto.de/en/versions/umberto-nxt-efficiency
http://cml.leiden.edu/software/data-cmlia.html
http://www.fhwa.dot.gov/infrastructure/asstmgmt/rc210704.pdf
https://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/cfa51.cfm
http://www.fhwa.dot.gov/publications/research/infrastructure/structures/97148/rss2.cfm
http://www.epa.gov/solidwaste/hazard/testmethods/sw846/online/index.htm
http://www.epa.gov/otaq/models/moves/

CEDR Call 2013: Programme name

Van de Wall (2012) “Warm mix asphalt in a critical perspective” in Proceedings of the 5th
Eurasphalt & Eurobitume Congress, Istanbul, 13-15 June 2012, Foundation Eurasphalt,
Belgium

Ventura A, Monéron P, Jullien A, Tamagny P, Olard F and Zavan D (2009) “Environmental
comparison at industrial scale of hot and half-warm mix asphalt manufacturing processes”,
Transportation Research Board, 88th Annual Meeting, Jan 11-15, 2009, Washington, D.C.

Verhasselt A (1989) “Bituminous mixtures with LD slags for base courses”, Proceedings 4th
Eurobitume Symposium, Madrid, Spain.

Vejdirektoratet (2013) “Asphalt pavement texture and noise: laboratory experiment with
acoustic optimisation tool”, Vejdirektoratet Report 436, Road Directorate, Denmark.

Wayman M, Cordell B and Houghton E (2008) “Life cycle assessment of the use of solid
waste materials in highway construction”, TRL published project report PPR395.

Wayman M and Carswell | (2010) “Enhanced levels of reclaimed asphalt in surfacing
materials — a case study evaluating carbon dioxide emissions”, TRL published project report
PPR468

Wayman M, Schiavi-Mellor I, Cordell B, James D, Gossling R, Loveday C, Simms M,
Southwell C (2012) “The asphalt Pavement Embodied Carbon Tool (asPECT): Developing a
carbon footprinting methodology for asphalt products”, in Proceedings of the 5th Eurasphalt
& Eurobitume Congress, Istanbul, 13-15 June 2012. Foundation Eurasphalt, Belgium

Wayman M and Peeling J (2015) “Recommended Product Category Rules for bituminous
materials and technologies”, https://www.ntnu.edu/web/edgar/edgar (Last accessed 21
October 2015)

Wirtgen (2012) “Wirtgen Cold Recycling Technology”, Wirtgen Group, Germany
World Bank (n.d.) “HDM-4 Introduction”, PowerPoint Presentation

WRAP (2006) “A38: Ex-situ recycling of a trunk road in South Devon”, Aggregates Case
Study, AGG0078

WRAP (2010) “Net Waste Tool Workbook”, WRAP Tools Training, July 2010,
http://www.wrap.org.uk/sites/files/wrap/NWT%20workbook%20v6.pdf (Last accessed 19
August 2015)

WRAP (n.d.) “The Net Waste Tool”, http://www.wrap.org.uk/content/net-waste-tool-0 (Last
accessed 19 August 2015)

WRAP (n.d.) “Resource efficiency in highways — case studies (pavements)”,
http://www.wrap.org.uk/content/resource-efficiency-highways-case-studies-pavements (Last
accessed 25 August 2015)

WRATE (n.d.) http://www.wrate.co.uk/ (Last accessed 19 August 2015)

Yang, J.-B., & Singh, M. G. (1994). An Evidential Reasoning Approach for Multiple-Attribute

Decision Making with Uncertainty. in IEEE Transactions on systems, man, and cybernetics

24(1): 18.
I

4

 2ebr
36 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads


https://www.ntnu.edu/web/edgar/edgar
http://www.wrap.org.uk/sites/files/wrap/NWT%20workbook%20v6.pdf
http://www.wrap.org.uk/content/net-waste-tool-0
http://www.wrap.org.uk/content/resource-efficiency-highways-case-studies-pavements
http://www.wrate.co.uk/

CEDR Call 2013: Programme name

Yang S-H, Suciptan T, Chang Y-H (2013) “Investigation of rheological behavior of Japanese
cedar based bio-binder as partial replacement for bituminous binder”, Paper presented at
TRB Annual Meeting, Washington DC, 13-17 January 2013.

Yoshioka S and Takeoka Y (2014) “Production of colourful pigments consisting of
amorphous arrays of silica particles”, ChemPhysChem 15, p2209-2215.

You Z, Mills-Beale J, Yang X, Dai Q (2012) “Alternative materials for sustainable
transportation — Final Report”, Michigan Technological University, MI, September 2012.

Zaumanis M, Mallick R B and Frank R (2013) “Use of rejuvenators for production of
sustainable high content RAP hot mix asphalt”’, The XXVIII International Baltic Road
Conference, 2013 1-10.

 2ebr
37 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads

o



CEDR Call 2013: Programme name

Annex A: Results of normalisation

4

 2ebr
38 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



CEDR Call 2013: Programme name

Results for the five EPDs and the designated impact categories.

1) PE 3) Office des 4) Foreningen
International 2) ACCIONA Asphaltes EPD Asfalt og 5) BAM Wegen
Infraestructuras : ; EPD from the West Europe
. . : EPD from - from France for veirservice EPD \ .
Indicators of the impact assessment Unit Germany for EPD from Spain 2 hot mix From Norway for Netherlands for 1995' Annualised
; Y for the N340 Y asphalt concrete | impact data
binder course road (2013) asphalt asphalt gravel (2009)
(1999) pavement (2009) (2009)
Acidification potential of soil and water kg SO2 equiv. 0.2187 385.1 3.28E-03 0.486 2.38E-01 2.7E+10
Depletion potential of the stratospheric ozone layer kg CFC-11 equiv. 5.73E-08 - 7.34E-08 2.71E-05 1.03E-05 8.7E+07
Global warming potential kg CO2-equiv. 74.94 103800 6.24E-01 56 4.79E+01 4.9E+12
kg phosphate
Eutrophication potential equiv. 0.02293 46.77 4.57E-04 0.092 4.43E-02 1.3E+10
Formation potential of tropospheric ozone kg ethene equiv. 0.1655 94.39 7.74E-04 1.80E-02 8.80E-03 8.2E+09
Applicable life-cycle stages AL-A3 A5-B5 AL-C4 AL-A5 AL-C4 nia

Normalisation results for the five EPDs and the designated impact categories.

1) PE International | 2ACCIONA 3) Office des i)s'f:;;eon'”ge” 5) BAM Wegen

Infraestructuras Asphaltes EPD f g EPD from the
. . EPD from Germany - veirservice EPD
Indicators of the impact assessment for binder course EPD from Spain for | from France for a From Norway for Netherlands for
(1999) the N340 road hot mix asphalt asphalt rav)él asphalt concrete
(2013) pavement (2009) (2(?09) 9 (2009)

Acidification potential of soil and water 7.99515E-12 1.40783E-08 1.20E-13 1.7767E-11 8.70E-12

Depletion potential of the stratospheric ozone layer 6.59E-16 - 8.44E-16 3.11E-13 1.18E-13

Global warming potential 1.53465E-11 2.12566E-08 1.28E-13 1.14679E-11 9.81E-12

Eutrophication potential 1.78834E-12 3.64765E-09 3.56E-14 7.17519E-12 3.46E-12

Formation potential of tropospheric ozone 2.00814E-11 1.14531E-08 9.39E-14 2.18E-12 1.07E-12

Applicable life-cycle stages A1-A3 A5-B5 ‘ Al1-C4 ‘ A1-A5 Al-C4

4

CE

39 \ , Conférence Européenne
des Directeurs des Routes

Conference of European

Directors of Roads




CEDR Call 2013: Programme name
e

Ranking of normalisation results for each EPD and impact category with an average rank provided.

1) PE 3) Office des 4) Foreningen
Irzternational 2) ACCIONA A)sphaltes EPD A)sfalt og ’ 5) BAM Wegen
Impact Categories EPD from E;g?fé%’%;;?: from France for veirservice EPD ﬁ';i;?;ﬂé!ior Average
Germany for a hot mix From Norway for Rank
binder c)(/)urse for the N340 asphalt asphalt grav)(;l asphalt concrete
road (2013) (2009)
(1999) pavement (2009) | (2009)
Acidification potential of soil
and water (kg SO; equiv.) 3 2 2 1 2 2.0
Depletion potential of the
stratospheric ozone layer (kg 5 - 5 5 5 5.0
CFC-11 equiv.)
Global warming potential (kg
CO, equiv.) 2 1 1 2 1 1.4
Eutrophication potential (kg
phosphate equiv.) 4 4 4 3 3 3.6
Photochemical oxidant
formation (kg ethene equiv.) 1 3 3 4 4 3.0

CE

o

40 \ , Conférence Européenne
des Directeurs des Routes

Conference of European
Directors of Roads




CEDR Call 2013: Programme name

Annex B: Methodology review

4

 2ebr
41 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



CEDR Call 2013: Programme name

Available in separate Excel sheet, with file name: EDGAR_methodologies_review.xlsx



CEDR Call 2013: Programme name

Annex C: Bespoke recyclability methodology

4

 2ebr
43 \ , Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



CEDR Call 2013: Programme name

EOL Products

Y

T 'ié-wcling allowed?
e.g. legal restrictions

¥, not
resolved
N
Y, but under
control
Y, not T
resolved " storage risks

(e.qg. leaching)

Y, but under
control
H&S risks 2
Sxpen2 =
i N

plant recycling?

= in situ cold recycling? -

recyclability
SCORE

Figure C-1: Flowchart of the recyclability methodology

N
N Y
/insitu cold | (insitucold | insituhot | | plant
. recycling . recycling  recycling recycling /
o -~ EOLproduct
\ fully recyclable ?
A
2\
E
L= %
Y downgrading ?
S pend
“s=0

44

4

'
CE
\ ™Yy

Conférence Européenne
des Directeurs des Routes
Conference of European
Directors of Roads



